Program 1.2 Remission data.odc

# Prior and Likelihood Model
model { 


for (i in 1:42) {



t[i] ~ dnorm(mu[Tr[i]], tau[Tr[i]]) I(min[i], )


}


for (j in 1:2) {   



tau.mu[j] <- n0*tau[j]


    mu[j] ~ dnorm(0,tau.mu[j])

# independent priors

#        mu[j] ~ dnorm(0,0.001)

        tau[j] ~ dgamma(1,0.001)

        sigma2[j] <- 1/tau[j]

        sigma[j] <- sqrt(sigma2[j])

        }

}

# Data

list(n0=1,t=c(NA,6,6,6,7,NA,NA,10,NA,13,16,NA,NA,NA,22,23,NA,NA,NA,

NA,NA,1,1,2,2,3,4,4,5,5,8,8,8,8,11,11,12,12,15,17,22,23),

min=c(6,0,0,0,0,9,10,0,11,0,0,17,19,20,0,0,25,32,32,34,35,0,0,

0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0),

Tr=c(1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,1,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2))

# Inits

list(mu=c(10,10),tau=c(1,1))

Output:


 node
 mean
 sd
 MC error
2.5%
median
97.5%
start
sample


mu[1]
24.61
4.743
0.3027
17.02
23.98
36.23
1001
1000


mu[2]
8.282
1.388
0.0438
5.564
8.288
11.25
1001
1000


sigma[1]
16.12
4.18
0.273
10.04
15.41
27.05
1001
1000


sigma[2]
6.478
0.9795
0.03307
4.804
6.429
8.628
1001
1000


sigma2[1]
277.3
156.1
10.36
100.7
237.5
732.0
1001
1000


sigma2[2]
42.93
13.46
0.4505
23.08
41.34
74.44
1001
1000


t[1]
28.89
14.9
0.7895
8.026
26.32
65.14
1001
1000


t[6]
29.47
13.1
0.446
10.69
27.4
59.48
1001
1000


t[7]
30.04
13.9
0.6972
11.1
27.7
63.34
1001
1000


t[9]
30.6
13.84
0.5875
12.25
28.3
62.58
1001
1000


t[12]
33.12
12.0
0.5798
17.6
30.6
63.38
1001
1000


t[13]
33.97
11.78
0.4489
19.77
30.83
64.41
1001
1000


t[14]
35.0
12.32
0.4954
20.49
32.28
67.19
1001
1000


t[17]
37.54
11.04
0.444
25.45
34.7
65.17
1001
1000


t[18]
42.47
9.801
0.4519
32.38
39.53
71.21
1001
1000


t[19]
42.75
9.926
0.4332
32.31
39.68
68.39
1001
1000


t[20]
44.09
9.785
0.4516
34.29
41.47
68.46
1001
1000


t[21]
45.16
9.496
0.4357
35.27
42.3
70.68
1001
1000


tau[1]
0.004592
0.002198
1.234E-4
0.001377
0.004216
0.01006
1001
1000


tau[2]
0.02544
0.007504
2.579E-4
0.01344
0.02421
0.04348
1001
1000


tau.mu[1]
0.004592
0.002198
1.234E-4
0.001377
0.004216
0.01006
1001
1000


tau.mu[2]
0.02544
0.007504
2.579E-4
0.01344
0.02421
0.04348
1001
1000
